| Efficiency vs Dxy |

.05
<

5o : : : : : : : : :
QA+t

B

@_035__ -------
© - : : ;
003:— .......
0.0252—---{,-......5 .......
T e
0.0152—----3-......; .......

J(0)| S S
0.005 - ++evvvevivenenni-

.........................

.9 O;IIII.IIII.IIII.IIII.III!IIII.IIII.IIII.IIII.IIII
© 1
@ ¢

0.9k

0.8

| Efficiency vs Dz |

B T50-15-10 =5 0 5 10 15 20 25

TP dxy (cm)

—=— DQM_mKFii_TTbase

—e— DQM_mKkFit_TT_retrainOIldFiles125_v2_prelimWP_b5iter

—— DQM_mkFit_TT_baseline_6iter

N 0.1
o

0.08F i o

0.02

0.01

.09+ R T S
3 : : : : :

FO8 T T R
O N H
.07 preseeee :
v :

0.0B oo
O] R 2
1N1Y | .

..................................

—+— DQM_mkFit_TT_RetrainV2_WP1_6iter

30
TP dz (cm)



	Contents
	Page 1


